

# Uniform Approximation of a Class of Multivariable Trigonometric Interpolation Polynomials in Euclidean Space

Ran Wang, Xuegang Yuan, Shuxin Huang and Li Cheng

School of Science, Dalian Nationalities University  
Dalian 116600, Liaoning, P.R. China  
yxg1971@163.com

## Abstract

To improve the uniform convergence of the classical Lagrange operators of several variables, we construct a new operator with a class of summation factors. It is proved that the new operator converges to arbitrary continuous functions with period  $2\pi$  in Euclidean space and that it has the best convergence order.

**Mathematics Subject Classification:** 41A28

**Keywords:** triangle summation operator; uniform convergence; the best convergence order; Euclidean space

## 1. Formulation and Result

Here we will study the approximation problems of some triangle interpolation operators with a class of summation factors in Euclidean space.

Let  $E(\Omega)$  be the known  $n$ -dimensional Euclidean space, where  $\Omega = \{(x_1, x_2, \dots, x_n) | 0 \leq x_i \leq 2\pi, i = 1, 2, \dots, n\}$  and let  $z = f(x_1, x_2, \dots, x_n)$ ,  $(x_1, x_2, \dots, x_n) \in \Omega$  be any real-valued continuous functions with period  $2\pi$  in

$E(\Omega)$ . Moreover, the 2–norm (or Euclidean norm) and the continuity modulus are respectively defined by

$$\|X - Y\|_2 = \left( \sum_{i=1}^n (x_i - y_i)^2 \right)^{1/2}$$

and

$$\omega(f, \delta) = \max_{\|X - Y\|_2 \leq \delta} |f(X) - f(Y)|,$$

where  $X, Y \in \Omega$ . It is easy to show that

$$|f(X) - f(Y)| \leq \left(1 + \frac{\|X - Y\|_2}{\delta}\right) \omega(f, \delta)$$

To describe the approximation problem conveniently, we only consider the corresponding problem in the 2–dimensional Euclidean space. Moreover, the results obtained in this work can be generalized to the  $n$ –dimensional Euclidean space.

Let  $(x_1^{(j)}, x_2^{(k)}) = \left(\frac{(2j+1)\pi}{2s}, \frac{(2k+1)\pi}{2t}\right)$  be the interpolation nodes, where  $j = 0, 1, 2, \dots, 2s - 1$  and  $k = 0, 1, 2, \dots, 2t - 1$ , then the Lagrange trigonometric interpolation operator of two variables can be written as

$$\begin{aligned} L_{st}(f; x_1, x_2) = & \frac{1}{ST} \sum_{j=0}^{2s-1} \sum_{k=0}^{2t-1} f(x_1^{(j)}, x_2^{(k)}) \left( 1 + 2 \sum_{\alpha=1}^s \cos \alpha(x - x_1^{(j)}) \right. \\ & \left. + 2 \sum_{\beta=1}^t \cos \beta(x - x_2^{(k)}) + 4 \sum_{\alpha=1}^s \sum_{\beta=1}^t \cos \alpha(x - x_1^{(j)}) \cos \beta(x - x_2^{(k)}) \right). \quad (1) \end{aligned}$$

where  $S = 1 + 2s, T = 1 + 2t$ . Obviously, Eq.(1) satisfies  $L_{st}(f; x_1^{(j)}, x_2^{(k)}) = f(x_1^{(j)}, x_2^{(k)})$ . However, it is known that  $L_{st}(f; x_1, x_2)$  does not converge uniformly to arbitrary continuous functions in the 2–dimensional Euclidean space<sup>[1]</sup>. In this work, To improve the uniform convergence, we introduce a class of summation factors and construct a new interpolation operator with a class of summation factor. The summation factor is denoted by

$$\begin{aligned} \gamma_{\alpha, \beta} = & \frac{1}{4} (1 - 4 \cos \alpha - 4 \cos \beta + \cos 2\alpha + \cos 2\beta - 4 \cos 2\alpha \cos \beta \\ & - 4 \cos \alpha \cos 2\beta + 16 \cos \alpha \cos \beta + \cos 2\alpha \cos 2\beta), \quad (2) \end{aligned}$$

where  $\alpha = 1, 2, \dots, s$  and  $\beta = 1, 2, \dots, t$ .

The operator constructed in this paper is given by

$$\begin{aligned}
 H_{st}(f; x_1, x_2) = & \frac{1}{ST} \sum_{j=0}^{2s-1} \sum_{k=0}^{2t-1} f(x_1^{(j)}, x_2^{(k)}) \left( 1 + 2 \sum_{\alpha=1}^s \gamma_{\alpha,0} \cos \alpha(x - x_1^{(j)}) \right. \\
 & + 2 \sum_{\beta=1}^t \gamma_{0,\beta} \cos \beta(x - x_2^{(k)}) \\
 & \left. + 4 \sum_{\alpha=1}^s \sum_{\beta=1}^t \gamma_{\alpha,\beta} \cos \alpha(x - x_1^{(j)}) \cos \beta(x - x_2^{(k)}) \right). \tag{3}
 \end{aligned}$$

For the operator  $H_{st}(f; x_1, x_2)$ , we have the following result.

**Theorem** If  $f(x_1, x_2) \in C_{\Omega}^{u,v}$ ,  $0 \leq u, v \leq 3$ , then

$$\begin{aligned}
 |H_{st}(f; x_1, x_2) - f(x_1, x_2)| = & O \left( E_{st}^*(f) + \left(\frac{\pi}{2s}\right)^u \omega\left(f_{x_1^u}, \frac{\pi}{2s}\right) + \right. \\
 & \left. \left(\frac{\pi}{2t}\right)^v \omega\left(f_{x_2^v}, \frac{\pi}{2t}\right) + \left(\frac{\pi}{2s}\right)^u \left(\frac{\pi}{2t}\right)^v \omega\left(f_{x_1^u x_2^v}^{(u+v)}, \left(\left(\frac{\pi}{2s}\right)^2 + \left(\frac{\pi}{2t}\right)^2\right)^{1/2}\right) \right), \tag{4}
 \end{aligned}$$

where “ $O$ ” is independent of  $s, t, x_1, x_2, f, \dots, f_{x_1^u x_2^v}^{(u+v)}$ ,  $E_{st}^*(f)$  is the minimum deviation with  $f(x_1, x_2)$ ,  $\omega(f_{x_1^u x_2^v}^{(u+v)}, \delta)$  is the  $(u + v)$ -th modulus of continuity of  $f(x_1, x_2)$ .

### 2. Proof of theorem

To prove the theorem, we need some preparation work.

If the trigonometric polynomial  $p(x_1, x_2)$  has the minimum deviation with  $f(x_1, x_2)$ , then the following expressions are valid, i.e.,

$$|p(x_1, x_2) - f(x_1, x_2)| \leq E_{st}^*(f)^{[2]}, \tag{5}$$

$$\begin{aligned}
 H_{st}(p; x_1, x_2) = & p(x_1, x_2) - \frac{1}{4} \sum_{i=0}^4 (-1)^i \binom{4}{i} p\left(x_1 - \frac{(2-i)\pi}{2s}, x_2\right) \\
 & - \frac{1}{4} \sum_{l=0}^4 (-1)^l \binom{4}{l} p\left(x_1, x_2 - \frac{(2-l)\pi}{2t}\right) \\
 & + \frac{1}{16} \sum_{i=0}^4 \sum_{l=0}^4 (-1)^{i+l} \binom{4}{i} \binom{4}{l} p\left(x_1 - \frac{(2-i)\pi}{2s}, x_2 - \frac{(2-l)\pi}{2t}\right). \tag{6}
 \end{aligned}$$

Next we divide the operator  $H_{st}(f; x_1, x_2)$  as follows.

$$H_{st}(f; x_1, x_2) - f(x_1, x_2) = \sum_{a=1}^8 e_a, \quad (7)$$

where

$$e_1 = H_{st}(f - p; x_1, x_2), \quad (8)$$

$$e_2 = p(x_1, x_2) - f(x_1, x_2), \quad (9)$$

$$e_3 = -\frac{1}{4} \sum_{i=0}^4 (-1)^i \binom{4}{i} \left( p(x_1 - \frac{(2-i)\pi}{2s}, x_2) - f(x_1 - \frac{(2-i)\pi}{2s}, x_2) \right), \quad (10)$$

$$e_4 = -\frac{1}{4} \sum_{l=0}^4 (-1)^l \binom{4}{l} \left( p(x_1, x_2 - \frac{(2-l)\pi}{2t}) - f(x_1, x_2 - \frac{(2-l)\pi}{2t}) \right), \quad (11)$$

$$e_5 = \frac{1}{16} \sum_{i=0}^4 \sum_{l=0}^4 (-1)^{i+l} \binom{4}{i} \binom{4}{l} \left( p(x_1 - \frac{(2-i)\pi}{2s}, x_2 - \frac{(2-l)\pi}{2t}) - f(x_1 - \frac{(2-i)\pi}{2s}, x_2 - \frac{(2-l)\pi}{2t}) \right), \quad (12)$$

$$e_6 = -\frac{1}{4} \sum_{i=0}^4 (-1)^i \binom{4}{i} f(x_1 - \frac{(2-i)\pi}{2s}, x_2), \quad (13)$$

$$e_7 = -\frac{1}{4} \sum_{l=0}^4 (-1)^l \binom{4}{l} f(x_1, x_2 - \frac{(2-l)\pi}{2t}), \quad (14)$$

$$e_8 = \frac{1}{16} \sum_{i=0}^4 \sum_{l=0}^4 (-1)^{i+l} \binom{4}{i} \binom{4}{l} \left( f(x_1 - \frac{(2-i)\pi}{2s}, x_2 - \frac{(2-l)\pi}{2t}) \right). \quad (15)$$

Using Eq.(5) and the following equation<sup>[2]</sup>

$$\left| \frac{1}{ST} \sum_{j=0}^{2s-1} \sum_{k=0}^{2t-1} \left( 1 + 2 \sum_{\alpha=1}^s \gamma_{\alpha,0} \cos \alpha(x - x_1^{(j)}) + 2 \sum_{\beta=1}^t \gamma_{0,\beta} \cos \beta(x - x_2^{(k)}) + 4 \sum_{\alpha=1}^s \sum_{\beta=1}^t \gamma_{\alpha,\beta} \cos \alpha(x - x_1^{(j)}) \cos \beta(x - x_2^{(k)}) \right) \right| = O(1), \quad (16)$$

we know that

$$e_a \leq E_{st}^*(f), a = 1 \sim 5 \quad (17)$$

Using the relation between derivative and difference, it is not difficult to show that<sup>[3]</sup>

$$e_6 = O\left(\left(\frac{\pi}{2s}\right)^u \omega\left(f_{x_1^u}, \frac{\pi}{2s}\right)\right), e_7 = O\left(\left(\frac{\pi}{2t}\right)^v \omega\left(f_{x_2^v}, \frac{\pi}{2t}\right)\right),$$

$$e_8 = O\left(\left(\frac{\pi}{2s}\right)^u \left(\frac{\pi}{2t}\right)^v \omega\left(f_{x_1^u x_2^v}^{(u+v)}, \left(\left(\frac{\pi}{2s}\right)^2 + \left(\frac{\pi}{2t}\right)^2\right)^{1/2}\right)\right) \quad (18)$$

Combining the estimation expressions  $e_1 \sim e_8$ , we know that the theorem is valid.

**Remark.** Here we also know that the following expression is valid uniformly in  $C(\Omega)$ , namely,

$$\lim_{s,t \rightarrow \infty} H_{st}(f; x_1, x_2) = f(x_1, x_2)$$

### References

[1] W. Cheney, W. Light, A course in approximation theory, Thomson Learning, 2000.

[2] J.X. He, Y.L. Zhang, On a linear summation problem in trigonometric interpolation, Journal of Mathematical Study, 28(1995) 22-27. (in Chinese)

[3] X.G. Yuan, Y.B. Chang, On linear combination of two classes of triangle summation operators of Bernstein type, Applied Mathematical Science, 1 (2007) 1571-1580.

**Received: January, 2010**